St. PBN Public School
Annual Examination
Class- VIII
English
Sample Paper

Time -3hours M.M. -80
INSTRUCTIONS:

e All questions are compulsory.
e Read all questions carefully before attempting.

SECTION- A (READING)
1.Read the given passage carefully: - (1X5=5)

Have you ever wondered why some toys are more popular than others? Or why some snhacks
have cool characters on the packaging? Well, that's because of something called marketing!
Let's explore what marketing is all about. Marketing is like when your mom or dad asks you
what kind of toy you want for your birthday. They're trying to figure out what you like so they
can get you the perfect gift. That's kind of what companies do, too. They try to figure out what
people like so they can make things that they'll want to buy.One important part of marketing is
finding out what people like. Companies ask questions and watch what people do to learn about
what they want. Just like when your mom asks if you want pizza or pasta for dinner !Then,
there's making the toys or snacks. Companies have to make sure they're making things that are
fun and tasty. They might even ask kids like you to try out their toys or snacks to see if you like
them! After they make the toys or snacks, they have to figure out how much to sell them for.
They want to make sure they're not too expensive, but they also need to make enough money to
keep making cool stuff. Once everything is ready, they need to tell people about it! This is
called promotion. They might put ads on TV or the internet, or maybe they'll have fun
characters on the packaging to catch your eye when you're at the store with your parents. So,
marketing is like a big puzzle. Companies try to figure out what you like, make cool stuff,
decide how much to sell it for, and then tell you all about it. And that's how they get you excited
to buy their toys or snacks!

Multiple Choice Questions:
What is marketing?

A) Making toys

B) Asking questions

C) Finding out what people like and telling them about it



D) None of the above

(i)Why do companies need to figure out how much to sell their products for?
A) To make them too expensive

B) To make sure they make enough money

C) To give them away for free

D) To make them boring

Short Answer Questions:

(iif) Can you give an example of how companies find out what people like?

(iv)How do companies tell people about their toys or snacks?

(v)Assertion Reason Questions:

Assertion: Companies make toys and snacks without thinking about what people want.

Reason: Marketing helps companies figure out what people like so they can make things
they'll want to buy.

a) Both the assertion and the reason are true, and the reason is a correct explanation of the
assertion.

b) Both the assertion and the reason are true, but the reason is not a correct explanation of the
assertion.

¢) The assertion is true, but the reason is false.

d) The assertion is false, but the reason is true.

2. Read the poem given below and answer the questions that follow: (1X5=5)
In the heart of dawn, a nation awakes,

With dreams as vast as the boundless skies.

In every step, a new path it takes,

Towards a future where hope never dies.



New India rises from the ashes of old,
A phoenix of progress, bold and bright.
In its veins, the stories of the untold,

Echoing with promises of sheer delight.

From the peaks of Himalayas to oceans wide,
In its diversity, it finds unity's embrace.
With strides of innovation, it does stride,

Towards a destiny no one can efface.

In the fields where farmers toil each day,
And in the classrooms where young minds bloom,
New India nurtures dreams that find their way,

Guided by the light of wisdom's room.

It echoes the chants of a billion hearts,
In the streets where colors and cultures blend.
A tapestry of resilience it imparts,

In every corner, its spirit ascends.

New India, a symphony of hopes untold,
A melody of dreams that soar and sing.
In its journey, a tale of courage unfold,

A beacon of promise, to the future, it bring.



So let us raise our voices high and strong,

For this land where dreams find their flight.

New India, to you, we belong,

In your embrace, we find our might. With dreams as vast as the boundless skies.
In every step, a new path it takes,

Towards a future where hope never dies.

New India rises from the ashes of old,
A phoenix of progress, bold and bright.
In its veins, the stories of the untold,

Echoing with promises of sheer delight.

From the peaks of Himalayas to oceans wide,
In its diversity, it finds unity's embrace.
With strides of innovation, it does stride,

Towards a destiny no one can efface.

In the fields where farmers toil each day,
And in the classrooms where young minds bloom,
New India nurtures dreams that find their way,

Guided by the light of wisdom's room.

It echoes the chants of a billion hearts,
In the streets where colors and cultures blend.

A tapestry of resilience it imparts,



In every corner, its spirit ascends.

New India, a symphony of hopes untold,
A melody of dreams that soar and sing.
In its journey, a tale of courage unfold,

A beacon of promise, to the future, it bring.

So let us raise our voices high and strong,

For this land where dreams find their flight.

New India, to you, we belong,

In your embrace, we find our might.

Multiple Choice Questions:

(i)What is the central theme of the poem ""New India"'?
A) The struggles of the past

B) The diversity and unity of India

C) The beauty of nature

D) The importance of ancient traditions

(i)According to the poem, what guides New India towards its destiny?
A) Innovation and progress

B) Ancient traditions

C) Superstitions

D) Political ideologies

(ili)How is New India described in the poem?

A) As a stagnant and unchanging nation

B) As a nation devoid of culture



C) As a resilient and hopeful nation

D) As a nation divided by conflicts

(iv)Describe the imagery used in the poem to depict the spirit of New India.
(v)Assertion Reason Question:

Assertion: The poem "New India" portrays the country as a beacon of hope and progress.

Reason: It highlights the resilience, unity, and diversity of India, which contribute to its journey
towards a brighter future.

a) Both the assertion and the reason are true, and the reason is a correct explanation of the
assertion.

b) Both the assertion and the reason are true, but the reason is not a correct explanation of the
assertion.

¢) The assertion is true, but the reason is false.
d) The assertion is false, but the reason is true.

SECTION- B(GRAMMAR)
3. Underline phrases in the following sentences and identify their types.

(1x4=4)

(@) In the heart of dawn, a nation awakes, With dreams as vast as the boundless skies.
(b)In every step, a new path it takes, Towards a future where hope never dies.
(c) From the peaks of Himalayas to oceans wide, In its diversity, it finds unity's embrace.

(d)With strides of innovation, it does stride, Towards a destiny no one can efface.

4. Fill in the blank with correct determiner: (1X4=4) (a). The
teacher asked the class to bring book to the reading corner.

(b)Could you please pass me salt from the kitchen shelf?
(c)I need to buy new pair of shoes for the upcoming event.

(d)My sister adopted kitten from the animal shelter last week.



5. Convert the sentences into Reported Speech. (1X4=4)
(@) "I love to read books," said Emily.

(b)"We're going to have a picnic by the lake," said Tom.
(c)"Please turn off the lights before leaving," said Dad.
(d)"Let's go for a hike in the mountains," said Rachel.

6. Identify whether the following sentences are simple, compound or complex sentences.

(1X4=4)
(a)The cat sat on the mat.
(b)Mary enjoys playing tennis, but she also likes swimming.
(c)Although it was raining, they decided to go for a walk.
(d)After the concert ended, we went out for dinner.
7. Go through the sentences and change their tenses as directed. (1X4=4)

a. She writes a letter. (Present Continuous Tense)
b. They have finished their homework. (Past Continuous Tense)
c. He visited Paris last summer. ( Past PerfectTense)

d. They will be watching a movie at this time tomorrow. ( Future Perfect Continuous Tense)

SECTION-C(WRITING )

8. Write down a biographical sketch of your mother in 80 to 100 words. (6)
9. You are the Head Boy/ Head Girl of your school. Write a report on ‘Sports Day”
celebration in your school. (7)
10. "Write a story in 125-150 words that begins with the following lines: (7)

As the clock struck midnight, the old house at the end of the street came to life. Lights flickered
in its windows, and strange noises echoed from within. Curiosity got the better of me, and |
decided to investigate. Little did | know, this decision would lead me on an adventure beyond
my wildest imagination..."”



SECTION-D (LITERATURE)

11. Read the lines and answer the following questions (2x3=6)

I slouched on my couch,
Crunched, crunched on my Munch.
Just a bulging belly, droopy lifeless eyes,
Puffed up cheeks and leaden thighs
a. Name the poem and explain why the speaker is calling the boy a couch potato?
b. Is it the right way of living life?Why or why not?
c. What is the rhyming scheme in the poem?
12. Answer the following question. (2X7=14)
a)What does having ‘running water and ceiling fan’ signify and what does RTE Act say about
children like Sarojini?
b) ‘And then I hear it!”What does she hear and how does she and others react to it?
¢) Why did Anna want to protect his brother?

d) ‘You are certainly the very man in London for my purpose.” Who said this to whom and
why?

e) Explain why Beethoven’s disease was especially painful to him?.

f) What is carbon footprint? Why high energy efficient appliances are more preferred than the
appliances with low energy efficiency?

g) Describe Khan’s appearances. Why did he eat whole cake of soap?
13. Answer these questions in detail. (3X2=6)

a. You are a member of your school's Eco Club, and you have been tasked with conducting a
study on the carbon footprint of the school. Your goal is to raise awareness among students and
teachers about the impact of their daily activities on the environment. You decide to conduct a
survey to gather information about the carbon footprint of the school and identify areas where
improvements can be made.

(i) Scenario:The school has a large number of students who travel to school by car or bus.



Question: How does the mode of transportation chosen by students affect the school's carbon
footprint? What are some alternative transportation options that could help reduce the carbon
footprint?

(if) Scenario: The school uses a lot of electricity for lighting, heating, and cooling.

Question: How does the school's energy consumption contribute to its carbon footprint? What
are some ways to reduce energy consumption and make the school more energy-efficient?

14. Word / Meanings (0.5X8=4)
(i) emissions (i1) thrive (iii) ponder (iv)dreadful

(v) fussing over (vi) lilting (vii) discordant (viii) multitude
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. The question paper contains four sections

. Section A has 6 questions. Each carries 1 mark.

. Section B has 8 questions. Each carries 2 marks.
. Section C has 10 questions. Each carries 3 marks.
. Section D has 7 questions. Each carries 4 marks.

SECTION-A

A point whose y-coordinate is zero and x-coordinate is 5 will lie on
(@) y-axis  (b) x-axis  (c) origin  (d) None of these

Of the following, the linear equation in one variable X, is
(@) 4/x = x/4

(b)1/x+1/x-1=1
(C)XI2+XI3+ Y4
(d)x2+2x+3=0

The ratio of speed of cycle 12 km per hour to the speed of scooter 36 km per hour is
a)1:2

b) 1:3

c) 14

d) None of the above

The cost of the article was Rs. 15500 and Rs. 500 was spent on its repairing. If it is sold for a
profit of 15%. The selling price of the article is:
a) Rs.16400
b) Rs.17400
c) Rs.18400
d) Rs.19400
Assertion (A) —The area of a rectangle of length a and breadth b is ab
Reasons (R) —The area of a rectangle (A) is the product of its length ‘a’ and width or
breadth ‘b’.
(a) both assertion and reason are true and the reason is the correct
explanation of the assertion.
(b) both assertion and reason are true but reason is not the correct explanation of the
assertion.



(c) assertion is true but reason is false.
(d) the assertion is false but reason is true.
6. Assertion (A) —The ratio 4 : 25 converted to percentage is 18%

Reasons (R) —A ratio can be defined as the relationship or comparison between two
numbers of the same unit to check how bigger is one number than the other one

(a) both assertion and reason are true and the reason is the correct
explanation of the assertion.

(b) both assertion and reason are true but reason is not the correct explanation of the
assertion.

(c) assertion is true but reason is false.

(d) the assertion is false but reason is true.

SECTION-B

7. 1f B+C=10, B-C=5 and AB+5C=100. Find the value of A, B and C.
8. Solve the following linear equations:

(a) 8x + 4 =80
9. Replace # by smallest digit so that number is divisible by 5
a) #25. b)1#0

10. Mala has a collection of bangles. She has 20 gold bangles and 10 silver bangles. What is the
percentage of bangles of each type? Put it in the tabular form?

11.Five bags carry 200 kg of wheat. Find the number of similar bags to carry 400 kg.

12.Find the value of m for which 2P + 26= 210,

13.Find the value of: 4°x3!x52,

14.The adjacent angles of parallelogram is (5x+6)° and (5-x)°. Find the value of x.

SECTION-C

15.Find the square root of 89 using successive subtraction method.
16.Solve and verify: 5(x - 30)=70

17.1f the length of one side of a rhombus is equal to length of one of its diagonals, find the
angles of rhombus.

18.Calculate the C.1 on Rs.8000 at 12% per annum compounded annually for 3 years.

19.Fabina borrows X 12500 at 12% per annum for 3 years at simple interest and Radha
borrows the same amount for the same period at 10 % per annum, compounded
annually. Who pays more interest and by how much?

20.The ages of Hari and Harry are in the ratio 5:7. Four years from now the ratio oftheir
ages will be 3:4 .Find their present ages.
21.Using the identities find the product of (4x+3y)(4x-3y)



22.Plot the following on the Cartesian plane and check the vertices of an isosceles triangle. P(-
50) Q(0,6) R(5,0)

23.The sum of three consecutive multiples of 8 is 888. Find the multiples.
24. Solve: 4x- = =1- =
SECTION- D
25.Construct a quadrilateral DRAW with three of its sides as DR=6¢cm , RA=5.8cm and
AW=5.4cm, and two angles as #R=120° and £A=90°.
26.Find the total surface area of solid cylinder with radius 15cm and height 10 cm.
27. (a) Find the area of rhombus if its diagonal measures 20cm and 24cm.
(b)The area of trapezium is 154 cm?and the length of one of its parallel sides
Is 45 cm. If the height of trapezium is 10cm, then find the length of
other parallel side.

28.(a) Water is pouring into a cuboidal reservoir at the rate of 60 litres per minute. If the
volume of reservoir is 108 m?, find the number of hours it will take to fill the reservoir.
(b) The difference between two positive numbers is 40 and the ratio of these integers is 1:3.
Find the integers.

29. (a) Subtract: 24x% — 12x + 17 from 45x2 — 12x + 17

(b) Multiply 5x? + 5x — 5 by -48x.

Case Based Questions:

30.Rashid has decided to build a swimming pool as shown in the figure on an empty
plot 25 metres long and 15 metres wide. He is discussing with his son Majid about
his plan to build the pool 15m x 5m x 6m in length, breadth and depth, put tiles
on the bottom of the pool and other requirements of the pool. Help Majid to answer
the questions asked by his father in their discussion.




a. What is the Surface area of the pool? 1

b. What will be the cost of tiling the floor and four walls of the pool at the
rate of Rs. 20 per m2. 2
c. How many litres of water the pool can hold? 1

31. This graph shows how the speed of a racing car varies along a flat 3 kilometer trackduring
its second lap.

Speed Speed of a racing car along a 3 km track
(kam/h) (second lap)

20 0s 15 25
o - ™ s - ™

3

- + * + ey i +
o 02 04 0.6 08 1.0 1.2 1.4 1.6 1.8 20 22 24 26 28 3.0

1‘Stamng line Distance along the track (km)

i: What is the approximate distance from the starting line to the beginning of the longest
straight section of the track?

a.05km b.15km c.23km d.2.6km

ii: SPEED OF RACING CAR M159Q02 Where was the lowest speed recorded during thesecond
lap?

a. at the starting line. b. at about 0.8 km.

c. at about 1.3 km. d. halfway around the track.

iii: What can you say about the speed of the car between the 2.6 km and 2.8 km marks?
a.The speed of the car remains constant.
b. The speed of the car is increasing.
c. The speed of the car is decreasing.
d. The speed of the car cannot be determinedfrom the graph.

iv: Here are pictures of five tracks: Along which one of these tracks was the car driven to
produce the speed graph shown earlier?
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Section A
QI All questions are compulsory. Each question carries 1 mark. (1x8=8)

1. Which is non-renewable source of energy’?
(a) Natural gas(b) Wind energy(c) Tidal energy(d) Mechanical energy

2. The amount of heat energy produced on complete combustion of 1 kg of a fuel is called
(a) Calorific value(b) Heat value (c) Significant value (d) Internal Energy

3. The front bulged part of the eyeball is called
(@) cornea(b) choroid(c) pupil(d) retina

4. During a clear night sky, bright light streaks are often visible. They are called shooting stars. They are
actually
(a) Falling stars(b) Comet(c) Meteors(d) Planets

5. Which of the following procedures will give you water free from all impurities?
(a) Chlorine tablets(b) Boiling(c) Distillation (d) filtration

6.The contamination of natural environment is known as
(@) Pollution(b) Greenhouse effect(c) Global warming (d) CFCs

Q. no 7 and 8 Assertion- Reasoning based questions. These consist of two statements- Assertion (A) and
Reason(R). Answer these questions selecting the appropriate option given below:

(a)Both A and R are true and R is the correct explanation of A

(b) Both A and R are true and R is not the Correct explanation of A
(c) Alistrue but R is false

(d) Ais false but R is true

7.Assertion:- Image formed by plane Mirror is real and inverted
Reason :- Image formed by plane Mirror is due to reflection of light

8.Assertion :- Carbon di oxide increase the eath's temperature



Reason :- Carbondioxide considered as greenhouse gas

QIl ANSWER THE FOLLOWING QUESTIONS (Ax7=T7)
1.Which zone of a flame does a goldsmith use for melting gold and silver &why?

2.What is virtual image?

3.What are meteor showers?

4.Venus is hotter than mercury, though it is far away from Sun. Why?

5. What is smog?

6. List any two water pollutants which are toxic for plants and animals.

7. Write any two ways to control noise pollution

Section B
Attempt any five (2x5=10)
1.1t is difficult to burn a heap of Green Leaves but dry lea sketch fire easily,explain.
2. Why is a matchstick rubbed against rough surface to light it?
3 What is meant by lateral inversion?
4. How is phenomenon of reflection used in making a kaleidoscope? what are the applications of kaleidoscope?

5. What are uses of artificial satellites?

6. Sometimes tap water has a smell of bleaching powder or chlorine, why?
Section C
Answer the following questions in detail (3x7=21)

1.What are the three requirements to produce a fire? How fire extinguisher is useful to control in the fire?
2.What is meant by luminous and nonluminous flames?

3.How long does it take for a full moon to change to new moon?

4.How do the planets stay in orbit around the sun?



5. Describe an activity to show that incident ray, reflected ray and normal at the same point of incidence lie in
the same plane.

6. What is algal Bloom?How does it affect aquatic organisms?

7 How burning of fossil fuels is leading to global warming?

QV Long questions (5x3=15)

Q1. What is dispersion of light? Describe a natural phenomenon based on dispersion of light?

Q2. What is satellite how does a natural satellite differs from artificial satellite?
Q3. Why does the increased level of nutrients in the water affect the survival of aquatic organisms?
Section D (Value Based Questions) (2.5x1=2.5)

1. Soha has difficulty to see the blackboard from back front bench of the classroom.She can read her books
comfortably what type of vision defect she is like to suffer from? How this defect can be corrected?

Section E (HOTYS) (2.5x1)

1. Why the planets do not collide while revolving around the sun?

Diagrams (3x2)
1.Draw a burning candel to show the parts of flame.

2.Draw a well labelled diagram of human eye.

CASE BASED QUESTIONS. (2x4=8)

Q1)Meteors and Meteorites: Sometimes we see bright streaks of light in the sky. These are commonly known as
shooting stars, although they are not stars. Actually, these are small objects which glow due to friction when
they enter the earth's atmosphere. These are called meteors. Meteors glow and evaporate quickly before
reaching the Earth's surface. The bodies that reach the earth are called as meteorites.

Artificial Satellites: They are man-made and launched from the earth. They revolve around the earth much
closer than the moon. Aryabhatta was the first Indian satellite. Artificial satellites are used for weather

forecasting, education, long distance communication and remote sensing.
ANSWER THE FOLLOWING QUESTION

Q1) Name the First Indian satellite.



Q2) what are shooting stars?
Q3) What are the functions of artificial satellite?
Q4) What are meteorites?

Q2) Protozoa: Protozoa are unicellular animals. Some are free-living, others are parasites. Several parasitic
protozoans cause diseases in human beings, domestic animals and plants. For example, Plasmodium, a
protozoan, causes malaria. Microorganisms are commercially used for the large scale production of alcohol,

wine and acetic acid (vinegar), while has medicinal uses too

Microorganisms can harmful too. Some of the microorganisms cause diseases in humans, plants as well as in
animals. Such microorganisms which cause disease are known as pathogens. Some microorganisms spoil

leather, food and clothing.

Food Poisoning- Food poisoning can be caused as a result of consumption of food spoilt by some
microorganisms. Microorganisms that grow on our food sometimes produce substances that are toxic in nature.

These make the food poisonous and can cause serious illness to living organisms
ANSWER THE FOLLOWING QUESTIONS IN DETAILS

Q1 Explain protozoa.

Q2 Write the example of protozoa

Q3 Explain the role of mirco organism at industrial level

Q4. What is food poisoning?
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GENERAL INSTRUCTIONS:

1. All questions are compulsory.
2. Do as directed.

Q1. Fill in the blanks (1x5=5)
) is known as the father of Indian Press.

i) was the British military settlements.

iii) is practiced in the Mediterranean regions.

iv) The number of females per thousand males is called
V) National commission for women prevents violence against

Q2. Multiple Choice Questions- (1x5=5)
Assertion(A): People are marginalised because of the different language they speak from others.
Reason(R): People are also marginalised when they follow different customs and religion than
others.

a) Both (A) and (R) are true and (R) is the correct explanation of (A).

b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
C) (A) is true but (R) is false.
d) (A) is false but (R) is true.

i) The most famous exponent of Hindi literature
a) Mirza Galib

b) Munshi Prem Chand

C) Bahadur Shah Zafar

d) Rabindranath Tagore

iii) A metal made by combining two or more metallic minerals

a. Ore

b. Quarry
C. Rocks
d. Alloy

iv) Assertion(A): India gained independence in 1950.
Reason(R): Subhash Chandra Bose was the founding father of the Indian National Army.
a. Both (A) and (R) are true and (R) is the correct explanation of (A).

b. Both (A) and (R) are true and (R) is not the correct explanation of (A).
c. (A)is true but (R) is false.
d. (A) is false but (R) is true.



v)  The court which hears cases of murder and theft.

Apex court

Lok Adalat

Court of the district judge
. Court of the sessions judge

oo o

Q3. State whether the following statements are True or False-

i. Aligarh Muslim University was earlier known as Shantiniketan.
ii.  Civil Court hear cases of murder theft.

iii. One can minimize the effect of drought by conserving water.
iv. Market gardening involves the cultivation of fruits and nuts.

v. The practice of sati was banned in 1829.

Q4. Mark the year of the following statements-

) Wood’s Despatch

i) English Education Act

iii) Charter Act

1v) Three new universities opened at Calcutta, Bombay, Madras

V) Indians educated in English medium to get government jobs.
Q5. Answer the following in one word or few words-

)} Metal with high conductivity.
i) Reformer who began a campaign against sati.
iii) The pioneer of modern dance in India

iv) The leader who played a prominent role in the integration of princely states.

V) The draft of a proposed law.

Vi) Name any one human-made disaster.

vii)  The court which hears cases related to the payment of revenue.
viii)  The head of the council of ministers in the country.

iX) The head of a Police station.

X) Name any one source of a biological disaster.

Q6. Answer the following in very short -

i) Why did Havelis decline during the British period?

i) Mention any two differences between public sector and private sector.
iii) What are the climatic conditions required to grow wheat? (write any two)
iv) What is the executive powers of the President of India? (write any two)
v) What is Federalism?

Q7. Answer the following in short-
1) What is the executive powers of the President of India? (write any three)

(1x5=5)

(1x5=5)

(1x10=10)

(2x5=10)

(3x4=12)

ii) Explain social, cultural, and economic factors influencing the distribution population of a place?

iii) What are the causes of human-made disasters?
iv) What are the main inequalities faced by women in India?

Q8. Answer the following in detail-
) What is the significance of the Government of India Act?

or

(5x3=15)



Briefly explain the significance of the Khilafat movement.
i) What are the main causes of Floods and droughts? How can these be prevented?
or
Describe chemical disaster.
iii) What is the relationship between poverty and unemployment?
or
How has liberalization policy changed the Indian economy after 19917

Q9. Observe the given figure and answer the following questions- (1+2+2)

i) Identify the personality.
il) What did he do to highlight the dominance of the upper caste?
iii) What was his role in drafting the Constitution of Independent India?
Q10. i) On the outline map of India mark the following: (2+3)

a) Any one center of Ship building
b) Any one center of fishing

i)  On the same outline map of India mark the following:

a) Meerut
b) Jhansi
c) Kanpur
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ST. PBN PUBLIC SCHOOL
ANNUAL EXAMINATION

CLASS - VI
COMPUTER
SAMPLE PAPER
TIME: 3 Hours MM-80
GENERAL INSTRUCTIONS:
1. All questions are compulsory.
2. Read each question carefully.
NAME: ROLL NO:
Q1. Choose the correct option and write in your answer sheet. (1x10=10)

1. Which key moves the cursor to the previous field in datasheet view?

a) Design b) Save c) Records

2. tag draws a horizontal line across the web page.
a) <br> b) <hr> c) Word

3. A property and its value, are collectively known as
a) Selector b)Attribute c) Declaration

4. Unorderd list is also known as list.
a) Bulleted b) Numbered c) Multilevel

5. By default, the ordered list starts with
a) A b)1 c)a

6. One of the supported file formats for _file is .webm
a) Audio b) Video c) Frame

7. is an example of online storage for the users.
a) Onedrive b) Windows Picture Manager c) Skype

8. Which amongst the following is not a characteristic of cloud computing?
a) Rigidity b) Measured service c) Resource pooling

9. is a computer program, that is designed to identify, prevent, and remove viruses
from a computer?
a) Antivirus b) Decryption c) Firewalls

10.You can find the save command in group of Home tab to save a record.
a) Design b) Save c) Records

Q2. Fill in the blanks: (1x5=5)
1. A key is a check on the table that uniquely identifies each record in a table.
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2. One way to apply css to HTml element is by using the attributes.
3. The attribute of <ol> tag puts the list in the descending order.
4. Images can be added to the document with the help of tag.
5. Microsoft offers free storage space to all its One Drive users.
6. A can be an online stranger on a person known to the targeted person.
Q3. State True or False: (1x5=5)
1. You cannot display images on a web page.
2. The <tr>tag makes the heading underline.
3. With inline method, the effects get applied to all the elements of the webpage.
4. A private cloud is provisioned for open use by general public.
5. Cookies is a text message given to a web browser by a web server.
6. Atable can have only one primary key.
Q4. Answer the following questions very briefly: (1x5=5)
1. Whatis HTML?
2. Write a HTML tag to add a background color.
3. Define cell.
4. Which attribute of <a> tag defines the document to which the link leads?
5. Name the One drive option that allows you to sort your files and folders on the basis of size.
6. Which virus is a combination of Boot Sector and program file virus?
7. What are the data types?
Q5. Application based questions: (2x10=20)

1) Naina wants to create a table in MS-Access to store the information about her classmates (like
Rollno, Name, Marks). But she has no idea which fields of the table can be primary key and
why? Help her to complete this task with an example.

2) Write the actions taken by the Antivirus after detecting Virus.

3) Write the key combination to be used for the following:

i. To go to a specific record in Datasheet
ii. Tomove the cursor to the previous field in Datasheet view
4) Write the Html code to do following task-
a. Background color — blue
b. Heading color-yellow
c. Toinsertimage.
d. To create unordered list.

5) Write a HTML code to create a table for storing information of 5 Students such as Student_id,
Student_Name, class, total marks.

6) Write the full forms of following:

i. HTML iii. ALT
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i. CSS iv. SRC
7) Define Cyber Crime. Give an example.
8) What is Antivirus? Name any two Antivirus.
9) Write difference between public cloud and private cloud.
10)Define Encryption and Decryption.

Q6. Answer the following questions in brief: (2x5=10)

Write any two advantages of Cloud Computing.
Differentiate between row and column.

Differentiate between <UL> and <OL> tags.

Discuss the purpose of any two attributes of the video tag.
What is Phishing?

i W

Q7. Answer the following questions in detail: (3x5=15)

What are the different types of lists supported by HTML5? Explain each one of them.
What is an importance of associating an alternate text with an image?

How to create a table in HTML using these tags. <td>,<tr>,<table>,<caption>,<th>.
Explain with the help of code, how audio clips can be added in an HTML document.
What is the difference between Cyber Stalking and Cyber Bullying?

State the difference between OLE and Hyperlink data types.

o s WN e

Q 8 Case study based questions.
Tags are the building blocks of a webpage. They contain elements that define how the
information on a webpage is formatted or displayed. You can also include non-text items, such as
images, links and lists on the webpage using the text. Tags do not appear in the browser window
but they affect the display of the text and non-text items in it. These tags are not case sensitive.
There are two types of tags used in Html. Empty tags and container tags.

Answer the following questions:

i) Define tags.

ii) Explain types of tags.

iii) What is an element?

iv) Write syntax to define tag.

RN R

a) Cloud is something that is present at a remote location. The community cloud is provisioned for
use by a group of consumers from different organizations who share the same concerns (e.g.,
application, security, policy, and efficiency demands).Cloud can provides services over the
network, either on the public networks, or on private networks, WAN, or LAN. Cloud is defined
as a set of hardware, networks, storage, interface and services, combined together to deliver
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different aspects of computing as a services over a network or internet.web conferencing,
customer relationship management, all run in cloud. one drive is a free online storage facility
offered by Microsoft. As the name suggests, you can use this drive as your own personal hard
drive, Microsoft offers 5GB free storage space to all its One Drive users.

Answer the following questions:

1. CRM stands for . 1

2. Which type of cloud is provisioned for use by a group of consumers from different
organizations who share the same concerns? 1

3. How much cloud storage does Microsoft offer for free? 1

Q9. Assertion and Reason-

In the following questions a statement of assertion is followed by a statement of reason select
the correct answer- (1x2=2)

1. Assertion: Backup is the process of making duplicate copies of data.
Reason: Backup can also used to restore the files that have been deleted accidentally.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation of
Assertion (A

c) Assertion (A) is true and Reason (R) is false.

d) Assertion (A) is false and Reason (R) is true.

2. Assertion (A): Picasa is a free program from Google that is used to edit digital photographs.

Reason (R): Firewall is a security system that protects computer by preventing unauthorized
access.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation of
Assertion (A)

c) Assertion (A) is true and Reason (R) is false.

d) Assertion (A) is false and Reason (R) is true.

Page 4 of 4



